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Use Case Change current time

Actor User

Purpose oAXf AlZt= M= 2789t

Overview M Ol HEZ =2 C|ASY 00 EAIE= X A|ZHOA =HE g5
OS2 0| =THC.
HM Ol =Me= X/2/A/L/8/49 =0|Lt.
W57t HesS =2 X =8¢ gd=29| i= S7HAIZICH

Type Evident

Cross Reference

Pre-Requisites Zt HE 9| 7|50| change current timel| At E|= 7|sS2 HYE[0 U0
Of StC,

Typical Courses of Events 1.(A) : AN Ol HEZ =2 =8¢ 2522 HAE FLCt

(A) : Actors (S) : System 2.(A) : ¢t S7tHES =& X =8 =2 gt2 S7tAZICL
3.A) : A 22 HHEZ =2 o Al E-Z 2t=3H0
4.5) : 28t A4S oM A= 27T

Alternative Courses of Events N/A

Exceptional Courses of Events E1. & S7IHES =S I 1 =2 Z(OigL0|H xagfe= SOHICE
2. 2t B7t HES =32 M A =8<g ¢=0| =0|H =E 022 =7|
2}t
E3. 1A O|=5 HHEZ =32 I odXf =8¢ &=0| HO|H == SO}ZtCt,
E4. 7|5 T2t HES =32 I & AL =HES St URULCHH, O A=
oAXf AlZte = 7ot




Use Case Set timer

Actor User
Purpose E[O|HE ’5783._“3
Overview M Ols HES =8 =8AZ 252 = 0=t}
HAM Ol =M= x£/&/Al =0|LC,
57t HHE2 =2 9N =8e 252 S7HAZICH
T8 22 HES =19 EfOIEH A8 = 2=
Type Evident
Cross Reference
Pre-Requisites Zt HHE2| 7| 50| Set Timer?) 7|%%§ HEE| 0 RAO|OF BHCL
Typical Courses of Events 1.(A) : A Ol HEZ =2 =8A|Z o%OE OI otCt.
(A) : Actors (S) : System 2.(A) : Bt HES = E1 AX =8 2= S7HAZIC
3A) : 8 = H‘l = = EI0|H 8™ &S 2t=ltC}
4.(S) : T_HH E}O| O ’5782 MN& Stk
Alternative Courses of Events N/A
Exceptional Courses of Events E1. 7| =0 MZE EfO|M7E U= 8%, ofF Efo| E7E0AM E8E X
W StCt,
E2. HAMZE A E 712|7|&= HEfOIM HME O|SAIZ|H HAME =2 O|l&
AlZILCE,

£3. 2t 3120 Eshe A|THZS 7|0 A4 BEH 3O WBEIT




Use Case Set Alarm

Actor User
Purpose er= 4780t
Overview a2t Mot HES =2 438 €82 o|s3trt,
1M 0|5 HES =2 8 522 0|s3toh
M O|s =M= ON/OFF/E/Al/E /=l =/=/a/E/9 =0|Ct.
u 57t HeEs =2 X =8 &=2| U= S7ITHL
Type Evident
Cross Reference
Pre-Requisites Zt HE2| 7|50]| Set Alarm0|| Ar8 k= 7|s=2 278 &[0 A0 OF St
Typical Courses of Events 1.(A) : €8 et HES =8 =8¢ €822 0|5
(A) : Actors (S) : System 2.(A): A Ol HHEZ =& =8 2522 0|=3tLt.
3.A) : &t Bt HESE - &= U= S7HAZICH
4.(A) : g2 d-8 2 28517 {8l 7|5 Heh/YE et HES +ELL
5.9 : &€& 28 US MYTLE
Alternative Courses of Events N/A
Exceptional Courses of Events E1. HEHR YEHE E0F= JEOAM LT M HES 2= 8% XUHH
Azto= ZOt7HC
E2. AMZE L2 7t2|7|= HEfOM HME O|FAIZ|H 0= HME 7t
2|7|X| = X2 dEj=2 SOr¢tCt,
E3. & St HES 7S I OfH HME 7I2[7|X] Y= 8% OIF S& %
StA| =L
E4. 2t S7t HHES =32 M X H M7} ON/OFF O| AL YE 7I2[7|=
SEf2t® 2= 273/ A eCh




Use Case Enroll Schedule

Actor User
Purpose 2HES SESICL
Overview M Ol HES &2 2AHE0A =8 =2 = 0|53t}
1AM Ols &A= 2/A1//8/H/28FF «=0|C}
S/t HES =8 dX =8 59| U= U1
272 55 HES 8 2788 AFHES S50
Type Evident
Cross Reference
Pre-Requisites Zt HE29| 7|50] EnroII ScheduleOf| AFE L= 7|s=2 EF&|0{O0F oL}
Typical Courses of Events 1.(A) : HM Ols HES =2 8¢ &=52= 0|2t}
(A) : Actors (S) : System 2.A): Wt BHES = o =8 &=2| 4f2 57ttt
3.A) : AFHE SE HES =8 48 A7 ES sFAIZICh
4.8) : MBE £A=S SESHCE
Alternative Courses of Events N/A
Exceptional Courses of Events E1. 27E 24 2N 7|5 HetsS ot 8% 240t AAHE Us X

S0 SE2R Yert
2. Y 57 HES 3
Z 27

2. M Sx ™ sh=2o| 70| YNMZ==3a}
SRS ¥ it (

o= O T = O O

=
N ZE2+&= PROM/MEET/BRTH/ETC)

e
no
ox




Use Case Append Expenditure

Actor User
Purpose N el
Overview NAMOAM S7t HES =2 +,-8 L
M O|l= tHE = =] 28% A== FEF 22 shift A|ZIC
57t tH = =of AN AHAML| =XtE 2780}
N 7ftHE =o| 4738 =9| ¢t2 E K=o Hoff AF oLt
Type Evident
Cross Reference
Pre-Requisites Zt HE 9| 7| 50| Append Expenditurel®fl A2 &= 7|52 HAHE|O{OF $F
C,

Typical Courses of Events
(A) : Actors (S) : System

M AMOIN B7t HESZ 531 +-= ATt
2.(A) : HAM Ol HHEZ “31
2.(A) : AAM O|= H15
3. : Bt HHEZ =
4.(A) : X|&H F r H
St

5.(S) :

1.(A) :

Alternative Courses of Events

N/A

Exceptional Courses of Events

E1 7ls gt
=L

LoL




Use Case Show Expenditure

Actor User

Purpose 2 X =8E 2o FLt

Overview 7 2 e =AtRH 2% FE85t0 Eo &L
HM Ol HES =23 REZL = 0|58l 7AtE| Ol&d= & = ULt
OFX| 9} Xt2|7hX] 2= M, WON% ZEof| OpX[2F =Xt S S ElCt

Type Evident

Cross Reference

Pre-Requisites Zt HH=2| 7| 50| Show Expenditurelf Ar&LE|l= 7|s=2 EE[0] A0{OF
ot

Typical Courses of Events 1.05) : 7t 2 Belel =X 2 H 2F &80ty BTt

(A) : Actors (S) : System 2.(A) : A Ol HES =8 2Z20Z 0|sslH & X|EHS 2Lt
3.5) : HAM O|SA| DMI'%* Xt2[2tH wo NS St}

Alternative Courses of Events Al. M O|=0| SZ0|M CHE 7|22 [™2JUCHIL CHA| O 7|s2 2 =
Ol™ 71 & Chf|o| =Xt2H 2ZF 3%"&01 HOFELE

Exceptional Courses of Events E1. OFX| 2 Xt2[of| M HAM O|sE & 8% CHA| 71& 2 Etele] Aj2| =At&
H 2% 3519 2 &L




Domain Model/

= Alarm = Scheduler Have / Has
+ alarmTime Time + scheduleTime Datetime | O--"
. :
+ alarmCycle Day 1 ‘Have / Has
I1
Have / Has
efer t SR
0..1 1 1 1
+ _ . e = Watch it Display
StopWatch - - 1
E:-:BumnBass Object>> : —1—pave / Has_1_ S —
+ currentTime Time —1 ——refer to—1———__BUZZer |
+ status boolean Have / Has 1
+ status boolean I I
1
—==Bsiress Objecte— '
I—ne(er ta—l = CurrentTime Have / Has
i :
i + currentTime Time Have / Has
= Timer ] X
—=<=Business-Objeetz>—
+ currentTime Time = Expenditure e
+ startTime Time + sumExpenditure int 1
+ status boolean
0.1
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- :
Change current time ea System

moveCurrentTimeCursor()

Move cursor point >

Increase value (if seconds ->

initialize, else increase) . .
increaseCurrentTimeValue()

Save value >

Show changed current

. saveCurrentTimeValue()

time >




w
w e 4k

>et Timer User System

moveTimerCursor()

Move cursor point

Increase value increaseTimerValue()

Save value

Show entered timer time

saveTimerValue()




Use Case

Set Alarm

Move cursor point

Increase value(if ON/OFF ->
two choices, else if day of the week

select each ON/OFF, else increase)

Save value

Show entered alarm time

User

moveAlarmCursor()

System

increaseAlarmValue()

saveAlarmValue()




Use Case

Enroll Schedule

Move cursor point

Increase value (if schedule ->

choice accurate event, else increase)

Save value

Show base display of

schedule

User

moveScheduleCursor()

System

increaseScheduleValue()

saveScheduleValue()




Use Case

User System

Show Expenditure

moveExpenditureViewCursor()

1. Move cursor point(A cursor

moves from highest number to the

least number)

2. Show sum of expenditure




Use Case

User System

Append Expenditure

moveExpenditureCursor()

Move cursor point(added +/- >
compared with show expenditure)
Increase value(f +/- -> two increaseExpenditureValue() N

choices, else increase)

Save value

Show sum of expenditure saveExpenditureValue() N




State Diagrams

CurrentTime

changeCument | ms

e2 SelectFunction
- : e3 e !
MonthlyExpenditure _ [ i e T = Timer
»
FJ E: ot
whow sppead m. = Seradus 4 sl ¢ v ~
*— — 1 = = =
| I | I
1 rightl shd
[
Schedule StopWatch
______ ETLCL oS
< <
- ] -
el el
- | —




showCurrentTime

CurrentTime

changeCurrentTime

exit / save
ed | ++ ed | ++ ed | ++
]
e2 ® - scc €3 | min 3 | hour
e’ e3 eld
day e3 month &3 year
ed / ++ ed [ ++ ed /| ++




h

. | e3= pause AFEHC]| A BF

" xh
xl

showTimer

=
[=]

Timer

e3 /initialize

e4 / start, pause

setTimer
exit / save
ed [ ++ ed [ ++
e3 .
ez | .—- sec min
ez
e3 hour o3

ed / ++




Alarm

Alarm1

changeAlarm

exit / save
gd | ++ =4 [ ++ a|4_+l+ a|4_+l+ od | ++
<howAlarm .__:..:.n | off g3 min &3 » hour &3 o MON €3 o TUE
el
._" e3
e3 el el e3

1.l | T SUN SAT FRI THU WED

ed [ delete el — . Alarm2
et f++ 24 ++ =4/ ++ ed [ ++ ed ! ++

Same as Alarm
]EE E2
Alarm4 Alarm3
ez

Same as Alarm

Same as Alarm




Schedule

enrollSchedule

e4 [ ++ e4 / ++ ed [ ++
showSchedule ® — nmn €3 | our 3 e
ez ‘
el ed
type p es day e3 month
e2 [ save
ed /[ ++ e4 [ ++ ed / ++




MontthE)l(penditu re

show append
e’

® - led |/ ++

e? [/ save

e3 / right shift e3 / x10




SelectFunction

ed [/ on,off ed [/ on,off ed [ on,off
[ 1 [ 1 [ 1
CurrentTime = Alarm B Timer
e3 e3
Monthly = Schedule e StopWatch
Expenditure
1 1 1
ed / on,off ed [ on,off ed / on,off




Traceability Analyze

4
o

R 71
R 72
R &1
R 8z
R 8.3
R 24
R 21

Activate Alarm

Buzz

Stop Buzzer

Enroll Schedule

Delete Schedule
Initialize Schedule
Activate Scheduler alarm
Append Expenditure

1 Display » R 1.1 Switch Display ) switchDisplay
= Button » R 21 Change button’'s function .
R 31 Show current time changeButtonFunction
2 current Time = R3.2 Change currenttime moveCurrentTimeCursor
| Tirmer R 3.3 Refresh currenttime
5 Stopwatch R 4.1 Setup Timer increaseCurrentTimevalue
R 42 Initialize timer .
g ‘;LE;"';F Rz Start Timer savelCurrentTimevalue
R 4.4 Stop Timer moveTimerCursor
= Schedule R 5.1 Start StopWatch. ) .
g Monthly Expenditure RS2 Stop StopWatch. increaseTimerValue
10 R 33 Initialize Stop\WWatch saveTimervalue
R &1 Set Alarm o )
R &2 Delete Alarm initializeTirmer

startTimer
stopTimer
startStopwatch
stopStopwatch
initializeStopwatch

R o2 Initialize Expenditure moveslarmCursor
R 93 Show Expenditure .

R 10.1 Store Data increaseflarmyvalue
R 102 Load Data caveslarmiyvalue

R 103 Delete Data

R11.1 Select Function deleteslarm

stopBuzz
moveScheduleCursor
increaseSchedulevalue
saveschedulevalue
initializeSchedule
moveExpendtureCursor
increaseExpenditurevalue
saveExpenditureVvalue
moveExpenditureCursor
mowveSelectFunctionCursor
selectFunction

saveFuctionwvalues
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